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21. Which of the following words can be
formed using all of the letters
EEELLPSSS., but none other?

STEEPLESS

SPELLSETS

SLEEPLESS

EPISTLES

o awmp

22. Three of the following four letter-
clusters are alike in a certain way and
one is different. Pick the odd one out.
A. CHSX B. IKPR
C. DIQW D. AFWZ

23. Select the letter-cluster that can replace
the question mark (?) in the following
series.

LIB, NIY, PHV, RGS, TFP, ?

A. VEM
C. WEM

B. VEN
D. VFM

24. If DAMSEL is coded as AEDLMS,
how will VALOUR be coded as?

B. AOULRV
D. AROUVL

A. AUVROL
C. AVUROL

25. Select the option in which the numbers
are related in the same way as are the
numbers in the given sets.

(6, 15, 30) and (12, 14, 84)
A. (12,16,32) B. (16,12,36)
C. (12,16,48) D. (16,12,72)

26. Select the option in which the numbers
are related in the same way as are the
numbers in the given pair.

21,

g 9 DY W 91 dael EEELLPSS
&R BT WATT TS a1 o HHAl & 7

STEEPLESS
SPELLSETS
SLEEPLESS
EPISTLES

oo®»

. B 9R 3ER — WEl ¥ ¥ 99 5l
W ¥ HHM § AR UH ST 2|

T &1 fafea &9 |
A. CHSX B. IKPR
C. DIQW D. AFWZ

a8 JEN—THE YA Wl Afoiiad sia@en
7 9o — RR(?) &1 W o 9aa 8|
LIB, NIY, PHV, RGS, TFP ?

A. VEM B. VEN
C. WEM D. VFM

afd DAMSEL @1 AEDLMS & &9 #
fedg fdar 7ar € d VALOUR &I
fbe woR feas g smem?

A. AUVROL B. AOULRV
C. AVUROL D. AROUVL
anow H W & O R U ge W
§ et wefid # |
(6, 15,30) 2117 (12, 14, 84)

A. (12,16,32) B. (16,12,36)
C. (12,16,48) D. (16,12,72)

oE A Haed § o RY g g A
W@ HeRd € |

(7,343) (7, 343)

A. (5,125) B. (4,16) A. (5.125) B. (4,16)

C. (3,81) D. (25,125) C. (3,81) D. (25,125)
10110804105 PA/AA
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27. If oats are called carrots, carrots are 27. afe Wi 1 e e AT 8, TER B
called blimps, blimps are called flowers, feere=y et oI 8, feorw &1 Be Fet
flowers are called stones, stones are ST 8, el &1 URR ' STl % TR
called balloons and balloons are called P YERT FHET Gl B AR TER @
toys, then what do buds bloom into? Rl waT ar 8, o Hferd ﬁﬁl‘:ﬁ'

&1 g 57
A. Flowers B. Balloons A. Gl B. g;;’m
C. Stones D. Toys C. &R D.

28. Select the option in which the letter- 28. 9e fameT g foraH EN—aig IU! HhN
cluster is related in the same way as is 3o H Hefed & ORY R an seR—E
the letter-cluster in the given set. Hafad 2 |
INQS JINQS
A. FIMP B. PTWY A. FIMP B. PTWY
C. NQTV D. DHKN C. NQTV D. DHKN

29. Which of the following strings of letters ~ 29. fy=faiRes o | 59 @R aen #
can be prefixed to the strings (IGHT), si@e (IGHT), (AME), (EW) 3R (AT)
(AME), (EW) and (AT) to make ¥ U WM W A e &, Gl
common words that can be found in fopeft arft ereaerer ® 91U ST Wehdl &7
an English dictionary?

A. (BR) B. (SH) A. (BR) B. (SH)
C. (PL) D. (FL) €. PE) D. (FL)

30. Inalanguage, 'mohu rupt nyrk' means | 30. U@ 997 ¥, ‘mohu rupt nyrk’ &7 i

'intelligent and hardworking', 'mohu triv g iR aRselr, ‘mohu triv jech'
jech' means 'tests and examinations', &1 3 werr 3R gdent’, jech lyge'
‘Jjech lyge' means 'examination &1 aef ofer ye 3R stoj rupt’ @
questions' and 'stoj rupt' means .
‘intelligent answers'. What will be the ﬁ WEIE m’ G:;%Q?m o
expression that means 'questions and '
answers'? ]
A. mohu lyge stoj A. mohulyge stoj
B. nyrk rupt mohu B. nyrk rupt mohu
C. nyrk mohu triv C. nyrk mohu triv
D. stoj nyrk rupt D. stoj nyrk rupt

31. Select the correct mirror image of the 31. &3 v W & wél gdur wifda g

given combination.
METALS HIETALS
A GJATEM B. MEALE hTEHJ B. WIsN/AJR
BIATEM > LA BIATERN > SLATEN
PA/AA 10110804106
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32. Suman leaves her home, turns left,

walks 300m towards the north and
reaches the Mahatma Gandbhi junction.
From there, she turns right and walks
500m to reach a hospital to visit an
ailing friend. After that, she turns right
o go to a supermarket. After shopping
from the supermarket, she walks
straight to her house. In which direction
does the road from the Mahatma
Gandhi junction to the hospital run?

A. Eastto West B.North to South

C. South to North D.West to East

32.

X TS | HETHT ) SiaeE W arard
% & gsa fbg e # wrdr 87

A. [@duftgq B, IR ¥ aflor
C. sRrg s D ufew § @@

33. Three of the following four optionsare | 33. 34 IR fawsai § 9 O & vor @
alike in a certain way and one is different. A & 3R US RTTA B I @
Pick the odd one out. forfea #Y |

©) © ® ®

A. @ B =3 @ A E'@ B. EI@
TR, e <) .0, o n i)
[]® [=]® " E® " [=®

34. Select the option in which the terms 34, a% fwey i R w2 @ @ af) v &
share the same relationship as that . SAiIfATN e 7 & 4 |
shared by the given pair of terms. Tt 4
Square : 4
A. Decagon :5 B. Pentagon:9 A. T :5 B.9eul : g
C. Hexagon :7 D. Octagon :8 C. ¥&49 : 7 D, 3reyo @ 8

35. Select the option in which the words 35, @8 f@ey % fora# gl & e a8l
share the same relationship as that T & Wl Y ¥eg gH P A 8|
shared by the given pair of words. & fehame
Paper : Book
A. Phone:Talk B. Wheel: Car A. B : aral B. ufgar : &R
C. Metal:Coin  D. Loan : Interest C. °rg : me D. 79 : =IS

36. Select the number that can replace the 36. g8 | g W =i s § we
question mark (?) in the following series. RE (?) & ®F o dddl
512,768, 1152, 1728, ? 512,768, 1152, 1728, ?

A. 2888 B. 2172 A. 2888 B. 2172
C. 2482 D. 2592 C. 2482 D. 2592
10110804107 PA/AA
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37.

Select the number that can replace the
question mark (?) in the following
series.

911,255, 2,63,31, 15,7

37. 98 w= g W eeterad Ad § g
foe (?) @1 @I o 9@ § |
511,255 2,63, 31,15, 7

A. 124 B. 127 A. 124 B. 127
(B D 135 . 1§35 D. 125
38. Three of the following four optionsare | 38. 7 ¥R fapedi # & il fei wER |
alike in a certain way and one is different. T & SR TP T ¥ | SR @I
Pick the odd one out. fafed #|
& O, O, ®
17
ATE® B EHE A [H@ B HE
il C et 8550 SR )
O M E1©) © =@ *[e]®
39.  Which of the options would be the sixth 39, 7S siEel § B3 WIF W P Wl fdwe
figure in the following series? T 7
l::“autnunvw BCGHLHHR]\F'N
a F k P u a F k P u
E Dj|d I Q N||T g||Y X E D I 0 5 X
-]H .-_E-_ 3 4 5 1 2 3 4 s
A A B B B L A A A B B H 3 A
' 0 : cl “le o D £ c 3 D
A B D € A B 0 C
C n:c D nta C. nzc D. A B
40. Select the fraction that can replace the | 40, @8 fi=1 g1 o fw=fafaa oo # ues
question mark (?) in the following fag (?) &1 ®IE o "ol & |
series.
643216 8 4 , 643216 8 4 ,
9 '27°81'243° 729" 9 '27°81 243 729°
A 2 B 2 |
" 1539 17 A 5w B. %7
5 2
C. 15% D. 2187 C. 1539 D. 2187
PA/AA 10110804108
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41. The famous historical monument 4. IFa gRT ga T vg vfoefe
'Buland Darwaza', built by Akbar, is WIS 'geig Searal 9N HaY & —
situated in the district of —— foret 9 Rere 21
Uttar Pradesh.

A. Meerut A. W3
' B. Kanpur B. &R
C. Agra C. 31
D. Allahabad (Prayagraj) D. ciEErE ()

42. Which Sikh Guru's birth anniversary is 42, &9 5@ 1% 9 SUd [owa  ER
celebrated as the festival 'Gurupurab'? $ Y H 1S A & ?
A. Guru Gobind Singh A. TE T fEE
B. Guru Tegh Bahadur B. % O 9EIgY
C. GuruArjan Dev C, :‘1‘\53135[:[?—13
D. Guru Nanak Dev D. qumzﬁaa

43. Which of the following folk dance ‘ 43, 399 | BIF |l Eﬂﬁ?q el yrea 9
forms is NOT associated with the state wHaled el & 7
of Haryana?

A. Dhamal B. Khoria A. g9 B. @i
C. Jhumar D. Jawara C. D. &R

44. Which of the following banks is NOT | 44. 9Rd # 3799 § ®F 91 4% WA &4
a public sector bank in India? H 46 TE & ?

A. Allahabad Bank A. FeEMEg 9
B. Punjab National Bank B. UoTd weFel 9
C. UCO Bank C. I& §&

D. Federal Bank Ltd. D. weve d far

45. Which scheme was launched by the = 45. 2015 # Fu=H41 §RI iR — ®rake, iR
Prime Minister in 2015 for providing FY oY /4eq JeHl B 10 dG TF 31
loans up to 10 lakh to non-corporate, FO WS B @ o 79§ B W
non-farm small/micro enterprises? Qo T DI T8 &Y ?

A. Pradhan Mantri MUDRA Yojana A. TETTHAT H&T e

B. Make in India B. #% &7 g

C. Ujjwal Bharat Yojana C. Tvodael 9RA A1

D. Atal Pension Yojana D. 3ce Ho A
10110804109 9 PA/AA
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47.

48.

49.

Which of the following Commissions

is mandated to recommend the

minimum support price for farmers?

A. Commission for Welfare of
Farmers

B. Commission for Agricultural Costs
and Prices

C. Commission for Agriculture
Growth

D. Commission for Agricultural
Development and Growth

Prime Minister Narendra Modi launched

the Fit India Movement in the month of
2019.

A. July B. September

C. October D. August

Who among the following developed
the Theory of Relativity?

Madame Curie
Albert Einstein
Alfred Nobel
Charles Darwin

cCNnw>»

In October 2019, the Ministry of
Environment, Forest and Climate
Change (MoEFCC) launched the first
national protocol to enumerate the
population of which of the following
elusive and endangered species in India?

46.

47.

48.

49,

g4 9 g sman 5 fas & foo
KT G Hed IR & sifAar

AT E ?

A. fHam seamor sman

B. &MY @FTd Qd @iAd S

C. $ gfy smam

D. 3 fd@rg vg gfe amam
WS NG "Gl § —————— 2019 H
fibe gfear gefe @t yoana @t of |

A. s
C. Sa@R

B. fodax
D. 3

wErdn & Rigia (e sife Refefad)
3 9 fogs grr ufe wifta B
o ?

A. H=Hq 99 21

B. 3cdc FE=EA 11

C. Ihs Aed ZM

D. =red eifd g

qAfaRvl, 99 Ug Werarg uRad HaErer
(MoEFCC) 9 arecay 2019 % wRd H
T ¥ e g ofiR femm wonfay @t
H&T @ TUAT B B GEA] ASY
Wetdier Ry fasar en ?

A. Snow leopard A. fés <gan
B. Indian rhinoceros B. ¥R ST
C. Gujarat lion C. TR 1
D. Bengal tiger D. T SRR
S i 10110804110
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50. In which year was the River Ganga 50. fo&g af & 7 78 &1 whg 94 afta
declared a national river? fear Trar e ?
A. 2004 B. 2008 A, 20044 B. 20083
C. 2014 D. 2016 C. 2014 D. 2016%
51. Which of the following states are | S51. 78 9 ®F I U Yrerare g8 W 10w
connected by the Palghat Gap? IS EUE 7
A. Maharashtra and Goa A. TBRTS 3R M
B. Keralaand Tamil Nadu B. #xd 3R afiarg
C. Tamil Nadu and Andhra Pradesh C. TiHcTg 3R 3" we
D. Karnatakaand Kerala D. ®He® 3R F
52. Which of the following Harappancities =~ 52. ESWISIA HI 99 9 &I | 7R, 4
was divided into three parts? Hrrt H ferfora o ?
A. Lothal B. Mohenjodaro (A) drere (B) #HiEw grel
C. Kalibanga  D. Dholavira (C) Preire (D) gy
53. In which year was the Supreme Court 53, ovc =fear oyl A 59 9 # sorear
set up by the East India Company in ¥ Hdled =IATAT B WA 61 efy 2
Calcutta?
A. 1757 B. 1765 A. 17574 B. 17654
C.. &3 D. 1792 C. 17734 D. 17929
54. In2019, who took the oath as the Chief ~ 54. 2019 ¥, f&a= eRamn & g @
Minister of Haryana for the second w0 H gEY 9R 9 @ ?
time?
A. Bhupinder Singh Hooda A. Yfter e ger A
B. Anil Vij B. el fawr 4
C. Manohar Lal Khattar C. THER &l We¥
D. Dushyant Chautala D. g%d Ferer A
55. Who was awarded the Nobel Prize in 55. 2019 # Aifeg &1 Ade QWRHR §74
Literature in 2019? q &8 g fasar an ?
A. Abiy Ahmed A. €T IEAG DI
B. Peter Handke B. dicx g9 &l
C. Olga Tokarczuk C. 3N SBRIGBID B
D. Bob Dylan D. @& fSo+ #
10110804111 1 PA/AA
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56.

The Indian cricket team played its first
ever day-night test match against _____
from 22* 10 26" November 2019.

A. SriLanka B. England

C. SouthAfrica D. Bangladesh

22 ¥ 26 Fg98% 2019 O& WA e
e A JuAT Fad User fRF-3a o

9 & fawg @ern)
A. Hd®T B. g8
C. =y appisT D, aParer

57. Who won the US Open Men's Singles ~ 57. 2019 ¥ 3,09, 3f/u= q&y¥ Uahdl faamd
title in 2019? feer=1 Sifar?
A. Rafael Nadal A, WA TS |
B. Daniil Medvedev B. SFa g A
C. Andy Murray C. @ mA
D. Nick Kyrgios D. fA® & A
58. Who was the Chairman of Indian Space = 58. %R (ISRO) gR1 W&u= 2 FA9F wig
Research Organization (ISRO) when fhy w1 & wHa Wty sfaRe aEEE
ISRO launched Chandrayaan 2 TS (ISRO) & 3meer & o 7
mission?
A. Dr. K. Sivan A. @i & g+
B. A.S.Kiran Kumar B. U ud. fawor R
C. Shailesh Nayak C. 3oy 9%
D. K.Radhakrishnan D. &. YEFEH
59. How many fundamental duties were  59. 42 d Gidu= G9EE F @04 § ARA™
included in the Indian Constitution e 4 fhow Hifee ader afafea
through the 42" Constitutional fopdy g o ?
Amendment? '
A. 11 B. 9 A, 11 B. 9
C. 10 12 C. 10 D 42
60. Under which writ does the court order =~ 60. &9 Tf@®r & siia e, @R
a lower court or another authority to ISl a1 fait s s & e
transfer a matter pending before it, to S T A .aﬁ SRR MR
; : AT W RFORG & 1 S
the higher authority or court? | Far &2
A. Mandamus B. QuoWarranto | A, ORI B. afeR gmr
C. Certiorari D. Prohibition C. 33N D. g
PA/AA 12 10110804112
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61. The second generation of computers 61. @ex B TEd i W
were based on e o |
A. integrated circuits A. Udlgd ikl
B. transistors B. WA
C. VLSI chips C. VLSI fiw
D. vacuum tubes D, e Aferarail
62. Which one of the following input = 62. 91 # =&l & HaRa H< & fag
technologies do banks use to process 4% fmfaiad § 9 o @ Pfafe
cheques? A BT TN B B P
A. OCR A. 31 9 3R (OCR) &I
B. MICR B. A g ¥ s (MICR) &1
C. OMR C. 3. U4 3IR. (OMR) &7
D. Pixels D. fOees &1
63. In the context of computer processors, 63. B HAMS & Had H ALU &1 quf
what is the full form of ALU? oY T 8 ?
A. Arithmetic Logic Unit A. thepfes difvre gfae
B. Array Logic Unit B. W difors qfie
C. Application Layer Unit C. Uweiihe oy e
D. Application Layer Usability D. TeNEe R Fuifafercs
64. Which one of the following is NOT an 64. Ffoled % 4 71 s wdeE o=@ W
Object Oriented or Object Based Tt SETNT HArae (|nfHEe) s
Programming Language? T8 € ?
A. Perl A. T
B. Ruby B. @Al
C. Python C. gy
D C DR €
I
10110804113 13 PA/AA
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65. Which of the following binary 65. Fmferad # 9§ ©F 91 o dfshar
operations would give 101011 as the uRomy ¥y 101011 ST 22 ug H
result? (all numbers in this question are T Hem] ferma HeEr uirell H €)
in binary number system)

A. 100010+ 11001 A. 100010+ 11001
B. 110101 -1010 B. 110101-1010
C. 101111-1100 C. 101111-1100
D. 100101+ 1010 D. 100101+ 1010

66. is the number of bits 66. —— Udh AaED B AN sl a9 §
in the internal databus of a processor. feew @1 | gl & | ¥s f9ey & a8
It is also the number of bits a processor e ff Bt 8, fors S ua aR o
can process at a time. G B Fhar 2 |
A. Control Unit A. v garg (Fgia 9fe)

B. Data Length B. Ser oy
C. Word Length C. a8 &
D. AByte D. U® 9gc

67. What determines the number of 67. T HHEEE gRT Ui Adhs B W b
operations per second that a processor arell Afhamsil @ e @ fuR fhas
can perform? It is expressed in ERT fdhan e 8 ? g9 #eey (MHz)
megahertz (MHz) or gigahertz (GHz), g1 irmEeyl (GHz) ¥ @rh fhar Sirar 8
A. Clock Speed A. Fld wWre
B. Bandwidth B. dSefaex
C. Frequency C. smgfer
D. FLOPS D. FATH (FLOPS)

68. Which one of the following statements 68. MS-DOS & ??ﬂ r=ferfaa 5 & &4
about ?viS—DDS is true? ET ?@ﬁgﬂﬁﬂ G )

A. Itis an open source software, Hireaar 2|
B. Itcan multitask. B. UE Ueh AT 3eh PrY PR Hebell & |
C. It has a Command Line Interface. C. s_‘qﬁ N m b‘r@ SITRIBHD
: (FHIS SIET SETEH) B & |
D. It supports multiusers. D. I8 UF 9 e SuanTHara @
HHT P B |
PA/AA 14 10110804114
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69.

70.

Which of the following statements

about kernels is INCORRECT?

A. Itis a computer program that
coordinates all executing utilities.

B. Itis a computer program that
controls all computer operations.

C. Itis a computer program that
schedules and manages all system
processes.

D. Itis a computer program that
provides an interface between a
user and an operating system.

To create new volumes and format a

new disk that you just installed on a
Windows 7 computer which tool would

69.

70.

T & g% H [feread § 9 $iF Wl

FHYT AT € 7

A. T8 U DT HATGY (Wam) & w1
i e Sudsgaes (@RiE)
BT GHGY TN £ |

B. & VAl e} dAeY (9amW) & &
Wit Pge FEreEr @ kT He 2|

C. I8 U1 dYex dwAeY () & oir
w4 yomel gfars @ FuifRa ok
araf¥erg Har 2|

D. U8 U SR HARY (W) & o
SURINT! 3R WETe womel! % de
Udh 3FRIBoTh SUcT&l e & |

Ay STl faSia 7 dwey #
f&wr gy (S @1 & 9d AU
g (dfeyn) a9 3R 3w &) awfd

you use”? () @A & foro e Amferfae +
W g e (€a) &1 wavr & ?
A. Disk Utility A. & glefadt &
B. Format B. B &
C. Disk Management @ ﬁ_e,qzﬁ HoHe &)
D. Disk Manager D. e §99w &7
71. The first generation of computers used: 71. UEell el & degest A &l
AT far e o)
A. vacuum tubes A fHama aferea {a‘q'z:t:q e B
B. transistors B. weH®i (ciformed) &1
C. semiconductors C. IEATABT &
D. mechanical gears D. Tit® firad &
|
72. Which memory is NOT primarily based 72. FpafoRea & | &9 @ W @)
on semiconductors? | WY W 3 =reld! 9R IR Té
A. Main Memory g7 -
B. Cache Memory & @?ﬁf (F9)
it : e B. i (@9 )
C. Secondary Memory C. Wﬁ' e
D. Registers D.
10110804115 15 PA/AA
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73. Fiber relies on instead of ~ 73. $eI WAR % forg wrgar fAgya o e
electricity to transmit data, which ——— W R BT B o af 9=
facilitates much faster internet Y & 99 geve waeE @ gl
connections that are capable of handling & Hedl /A B Ol ST defdey W
higher bandwidth. ¥ [em &1 8
A. electricity B. light A. faeg B. Weprer
C. electromagnetism D. magnetism C. fga—asa D. ga&

74. Which of the following cloud 74. f=feifag % ¥ f5w aenos s
infrastructure provisioned for exclusive WAl (TS SHRgTW) H D
use by a single organisation comprising SuArTEaisl e e tea HTed
multiple consumers (e.g., business (SeTERYI— A FHIEA) ERT 374
units). It may be owned, managed, and G‘ﬂ'-':h"T TR Bl AT 8 ?_ g fsl
operated by the organisation, a third wET, WRR v A A B ‘ﬂ'ﬂ’ﬁﬁ s

gl Wi # @, weda 3R o fhar
party, or some combination of them. R
: E:Tnﬂucn:(:;rjzluud o Wﬁmﬁﬁﬁ b
C. Public Cloud E:_ A $
D. Hybrid Cloud D. TFHT FATSE

75. What is common between Chrome, 75, HIH, GHN 3N SN & 9= 9 gEEar
Safari and Opera? They are all: e?awiar g7
A. web browsers A. 94 faev® (9 aea)

B. search engines B. @l o (Wd ofor)
C. social media sites C. wrerel M fagvor — wrer (WrEey)
D. web services D. dq Hani

76. ADSL provides data | 76. ADSL ST T3 I Sl W
rates in the downstream direction, from W dar w- wd ge Sufmd R A
the central office to the end user, than e DU wrE-—we A e yEn 9%
in the upstream direction, from the end Tl e # wEE w8
user to the central office.

A. higher A. =R

B. lower B. AR

C. equal C. &R

D. higher or lower (depending upon D. Sear A1 e {Emr siv ger
provider and traffic) werer — aRRerr (fpe) w fAR)

PA/AA 16 10110804116
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77. @@ A% ¥, — U YHR B 99 I

77. In web development, a IS

78,

79.

a web application that combines

(Teiene) & S et R ARG es

multiple services to create a single new (RTer witharer gevww) H walda tad
service displayed in a single graphical A1 HT BT G H & forg ag Harsif
interface. &1 FAIRTT R § |

A. Multicasting A, Heel HINCT

B. Moodle B. ¥

C. Meme C. 4mH

D. Mashup D. H7Y

The terms ‘crawling’, 'indexing' and
‘ranking’ are related to:

A. phishing

B. searchengines

C. browsers

D. internet service providers

What is the keyboard shortcut to paste
the contents of the clipboard in a

Microsoft Word file?

78.

79.

wiferT, ‘F3fdTT R W v by
9 et € ?

B. @il 39 (W gfor) ¥

C. faev®l (@ead) |

D. gevde Har yardsi |

Microsoft word H1gd # fdeuars 9
vilehe &l WanT f6ar omr & ?

A. Curl + P A. Cirl+ Pl
B. Cul+V B. Ctrl +V &1
C. Cul+C C. Ctrl + C 1
D. Cul+ X D. Ctrl + X &1
80. When entered in the cells of a Microsoft R0. wa Microsoft Excel d@¥fie ¥ uarat
Excel worksheet, numbers are, by (fe) § Het yfdwe & ot € & 9
default, ga faiRa R (@ fReie) g —
&t &
A. leftaligned A. 913 AR OEd
B. centre aligned B. ®g H wfad
C. rightaligned C. ©g 3R wefad
D. justified D. @5 yrdfy (Gftewgs)

10110804117
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81. In Microsoft Word, you can customise 81. Microsoft Word #, 39
or choose predefined margin settings &1 999 S gd iR Suid
by going to argRriel (Ao |icT) @ ghied
(F¥eHES) IR THd & °1 g7 qad 2 |
A. Layout > Margins A. Layout> Margins
B. Insert > Margins B. Insert>Margins
C. Review > Margins C. Review > Margins
D. Draw > Margins D. Draw > Margins
82. In Microsoft PowerPoint 2016, 82, MS - PowerPoint 2016 ¥, #
contains formatting, WS R fe@s &4 arell w
positioning, and placeholder boxes for it & forg s, grofref
all of the content that appears on a slide. 3R = gl dray Afgd g €
A. Outlineview  B. Slide format A. INTARA ¥ B. WgS B
C. Slidelayout  D. Slide master C. ¥W5s damrse D, Wigs ARey
83. In MS-PowerPoint, 83. MS-PowerPoint # ATTDT
lets you copy all of the formatting from s faw | waed dwuvr (BiAfR) @
one object and apply it to another one. BId B N W g faww F wan
F | W] WS Bl |
A. Format Style A. BT wIgd
B. FormatAll B. Hiffe 3ife
C. Format Paste C. Bife e
D. Format Painter D. ®iAe dex
84. When you're using . 84, w4 I B W4T TN TE
you'll always be running the most up- B &, 11 379 ¥ag AIHIETe R HRd
to-date version of the apps that f&d ¢ weifde e (Juscs) U
Microsoft can offer. This unlocks e ¥ B & | 98 Fafha geen s
regular security updates, improvements (3recw), Rl @ ude (eli®) Sl
and more importantly, access to the g 3R fq wEEgl w9 | AdEaH
latest features and tools as soon as they fafdreant iR T oY B 9udd Bg
become available. &, I SUTT HYEr ¢ |
A. Office 2019 A. Office 2019
B. Office 365 B. Office 365
C. Open Office C. Open Office
D. Cloud Office 2019 D. Cloud Office 2019
PA/AA 18 10110804118
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85. In Microsoft PowerPoint, you wantto | 85. MS-PowerPoint # 317 I8 T\jﬁfﬁlﬁ ]
ensure that your company logo appears AIEd & b STUd! HYA BT WD (U8
on the right-hand top corner of all the | (ehrm), o wea wRgfievor §
slides in a given presentation. Which wESY & G & B R feaE ¢
of the following views would you use T @ @ fore s Freferftaa # @
to do this? fhe &g &1 W BT BRI ?

A. Slide Sorter A. ITSS Hiex &l
B. Slide Master ! B. wES HREY &1
C. Notes Master ' C. ey AREN @I
D. Outline View D. Jm3cergd & &1

86. To insert a table of contents in a 86. Microsoft Word 2016 uei@ (@“iﬂgﬁe}
Microsoft Word 2016 document, you i gmfal & aferer uie &9 &
would need to go to the ‘ fere, amepT ﬁvq\éa Ll
menu tab. BITT |
A. Layout B. Design A RIS B. f&wm=a
C. References D. Insert C. TS D. =&¢

87. Inreference to Microsoft Excel, please ‘ 87. Microsoft Excel & #ad #, @y
see the contents of the following cells: fy=eferRaT weral (Gow) o5 amiiT &)

A A J 8 | A » | s |
. -
2 5 ; gae | ‘ 2 5 | 8 |
Cell A3 has the formula =A1*$AS$2. A A3 o7 93 = A1*$AS$2 & ware
The formula from Cell A3 is copied to (@) A3 9§ 93 @ vors (@) B3 A
Cell B3. The value displayed in Cell B3 F P o 8| yore @) Ba #
will be: ‘ wefder A1 T ge
A. 40 B.. 20 A 40 B. 20
C. 3 Digs C. 30 D. 48
10110804119 19 PA/AA
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88.

89.

is an established set of rules
that determine how data is transmitted
between different devices in the same
network. Essentially, 1t allows
connected devices to communicate
with each other, regardless of any
differences in their internal processes,
structure or design.
A. Network Software
B. Network Protocol
C. Network Media
D. Network Operating System

A 1s a collection of 80.

devices connected together in one
physical location, such as a building,

office or home. It can be small or large,
ranging from a home network with one

8. FraHt @1 e wenfid w@9g

Wit 7 fAaiRa @ & 6 e & gard
(rea®) # fafs Suawol & 9 e
! o yer yarfvd s wmg | sfard
WU A, U8 wOiford SuEvll Bl g H
HEXUT ¥ ol &, el & ITd] RS
wftharsi, e a1 siftee (fEomg=) #
FIg R B |

A. -icaF HigediN

B. #cad Wbl

C. eds afgw

D. egs JATRiET fRes

———TU& Hifde W, oY H999,

ST a1 8% H U W O SUHII
F UF GUE 8| U8 Vel A7 98 B
waar &, fored vs SuarTEdr & 9
U% E e (B edd) | dAaw Ud

user to an enterprise network with HaTed a1 [Ferea # R SwErTEare
thousands of users and devices in an 3R SUHROI & 1Y FeH Harlel
office or school. ‘ (Vexures wedd) & Hadl & |
A. LAN B. WAN A. LAN B. WAN
C. MAN D. Cloud C. MAN D. Cloud
90. What is the full form of "TCP'? 90. ‘TCP' &1 quj &6y a7 & 7
A. Transmission Carrier Package ‘ A. grafeE s tew
B. Terminal Control Protocol B. efimar dga Weisla
C. Transmission Control Protocol C. THEIE Hid Weidhid
D. Transport Control Protocol D. giHUe derd Wernid
91. Which one of the following devicesis | 91. ¥R cmeel 4 #wed o G
used for connecting computers in a star ‘ & % fore Preifaifaa % 9 fre Sumeor
topology? &1 AR fhar wen 87
A. Hub B. Repeater A. B4 &1 B. Rdex &1
C. Bridge D. Router C. s @1 D. 9ex &1
PA/AA 20 10110804120
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92. In which topology are all the network | 92. F=feiRea § & fw Sareiien ¥ @i
nodes individually connected to a Halrel GiEdl (Aeas Arew) afdera 9
central switch, hub or computer that 9 P wug a9, 89 91 ey § 9@
acts as a central point of Bl & O Hawl W uiRd &1 & fo
communication to pass on the ARVl % Ud hurd fig & w9 F wl
messages’ & B 7
A. Star Topology A. TR TaEt
B. Ring Topology B. &1 Smiaton
C. Bus Topology C. 99 crafl
D. Hybrid Topology D. EEfds SmEml

93. Aliyahas 2600 MB of data. Dineshhas =~ 93. anferm & w9 2600 MB <1 & faswr
4000 MB of data. The combined data % UM 4000 MB 37 8| 39 <1 @
would fitona USB flashdriveof T U WU W HSRY &Ha
storage capacity. drel U USB weler g1ga # Siell il Wl & |
A. 1GB B. 2GB A. 1GB B. 2GB
C. 6GB D. 10GB C. 6GB D. 10GB

94. Which of the following binary 94. fr=ifoilRag # | fbw Bemmd wfem
operations would give 111010 as the (AT 3ATReE) &1 9RO 111010 ERTT7
result? (All numbers in this question are (39 o & | W0 fEememd) |
in binary number system) ygh (@ Faw fwen) 9 €)

A. 111111-1011 A. 111111-1011
B. 100101 + 10101 ‘ B. 100101+ 10101
C. 110001 + 10101 C. 110001 + 10101
D. 111101-101 D. 111101-101

95. The is a small program that ~ 95. TS WOR P oy WU 8
controls the computer from the time it ol mﬁ Wu Eﬁé Eﬁﬁ
powers on until the time the operating ‘ FTEHTGIH S ﬁq;fgfﬁl}m ik GI::
system takes over. Erataror 38 w1 B |
A. CMOs B, SBICS A. CMOS B. BIOS
C. EPROM D. POST C. EPROM D. POST

|
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96. What is the typical range of RAM size 96, 3iifthe & @Ml 3§ waT fby & 9
in a standard laptop used for office wed aueiy # RAM % areR & 34
work? IRTH FT BN 87
A. 128KB-256 KB A. 128KB-256KB
B. 256 MB-512MB B. 256 MB-512MB
C. 4GB-16GB C. 4GB-16GB
D. 128 GB - 256 GB D. 128 GB - 256 GB

97. The part of the CPU which contains | 97. CPU @7 @& s for#d afdbedt &
circuitry that uses electrical signals to glar & iR o wuda w6 Pl
direct the entire computer system to e A1 fanfea & & fog © e
carry out or execute stored program Rven &1 el &= & o Ry
instructions is known as: Hehe BT YA HXl B, 9 [ Am |

ST ST 87
A. control unit A. T e
B. arithmetic and logical unit B. uferiR® sk diftrea afe
C. register C. ez
D. program counter D. WU Hieet

08. requires constant power 98. B PH P EY F U
flow in order to function. Because of TR g sl @ smavamar Ted
the continuous power it doesn't need 2| oar gy amfd @ @ *
to be 'refreshed’ to remember the data R 39 F 3iew dSRd fFu o e
being stored. However, it is a volatile e B A W@ F v e T8
memory, which means that all the data BT TSl £ | BT, T8 U ARER
that had been stored becomes lost once Y B L Praer af & B U R
the power is cutoff. e omuff aifda B9 uR gwd deiRd

RT SeT o B o § |
A. DRAM A. DRAM
B, ARAM B. SRAM
G Bl C. SSDRAM
Dy SREAM D. SDRAM
PA/AA 2|2 10110804122
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99. A multitasking operating system means

that:

A. multiple computers can be
networked together.

B. multple people can use a computer
concurrently

C. several programs can be operated
concurrently

D. the operating system can divide

work between several CPUs

100. Which of the following statements is
NOT true with regard to the Auto Filter
option in Microsoft Excel?

A. By filtering information in a
worksheet, you can find values
quickly.

B. You can set a filter on one column
of data at a time.

C. You can control not only what you
want to see, but also what you want
to exclude.

D. You can search for text and numbers
using the Auto Filter option.

99. weelelf¥e i ey o1 aef 18

e f&
| A. &% DY B UF W eddh b
| T Hpdl & |

B. ®% N U $YeX & Uh |
WA &Y THhd E |

C. 989 9 UIITHl &1 U | HHre
fabar oI wwar 21

D. affEn Riwen, RAf=1 CPUs &
4" o @1 fofora &) 9aar |

100. Microsoft Excel # 3ifel fheex fAasg
& Hay H fFr=falRag 4 9 @9 91 9=
e 8 & ?

A. f&dll avie 3§ gaar & fheex
D, AU BT I BT ow W
P Hhd |

B. 319 U% W90 § SeT & U Dl
TR U fiheex U2 o) 9dd & |

C. 39 5 %ael 99 M3 & gad &
Gt 3T ST Aed & afow 99 )
VO O e B B =

D. amy aifer fheex fAwen &1 wamT
B e 3N T W Hehd & |

10110804123
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Read the following instructions carefully:

Prafafee Féisiam 4w .

10.

1.

Qut of the four alternatives for each question, only one circle
for the correct answer is to be darkened completely with
Black Ball Point Pen on the OMR Answer Sheet. The

answer once marked is not liable to be changed

The candidates should ensure that the Answer Sheet is not
folded. Do not make any stray marks on the Answer Sheet. Do
not write your Roll No. anywhere else except in the specified
space in the Answer Sheet

Handle the Test Booklet and Answer Sheet with care, as under
no circumstances (except for discrepancy in Test Booklet)
another set will be provided.

The candidates will write the correct Test Booklet Series as
given in the Test Booklet in the Attendance Sheet.

Each candidate must show on demand his / her Admit Card to
the Invigilator

No candidate, without special permission of the Center

Superintendent or Invigilator, should leave his / her seat

The candidates should not leave the Examination Hall without
handing over their Answer Sheet to the Invigilator on duty
Cases where a candidate has not signed on the Attendance
Sheat will be deemed not to have handed over the Answer

Shest and dealt with as an unfair means case

Use of Pencil/Electronic/Manual Calculator is prohibited

The candidates are governed by all Rules and Regulations of
the Commission with regard toc their conduct in the
Examination Hall. All cases of unfair means will be dealt with as

per Rules and Regulations of the Commission

After Examination is over, candidate has to retum his Answer
Sheet to invigilator, Imaigilator will hand over the Candidate’s
copy to candidate, then only candidate is allowed to leave the
examination hall. Candidate is only allowed to take Candidate’s

copy of answer sheet

Candidates are not allowed to take Test Booklet with them.
They have to submit the Test Booklet to the Invigilator after
the exam,
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